MATCMATHUEKA
2 KJacce

P=(a+b)e2
P=a+b+c

S=aeb




19,17, 15, ..., ...y ...

71,73, 75, ceey eey oen E‘Q::l/

44, 46, 45,47, 46, ..., ..., ...



20 cm

=6 cM 20cM—14cmM =6 cm

Jem=11m 13cMm—3cm=1 1M

TecMm+3cm=1am

= 30 cM 2am+ 1 1M =30 cm

¥



a) 91 cm, 10 1M, 100 M, 29 cm?, 41 am
29 cm?

0) 45 kr, 24 am?, 83 cm?, 15 am?, 43 m?
45 Kr

B) 25 m?, 68 M?, 38 cm?, 74 m?, 91 M

38 cm?



Ilnowaoes
dDuzypor
- "




6+6+6+6+6+6=236(cm?)
6°6=36(cm?)



1 cm?

1cm

cMm?

3akpacbme:

20 cm? - CUHUM UBEeTOM
5 cM? - KpaCHbIM LIBETOM
30 cm? - 3eneHbIM LBEeTOM

He3akpamennasa S - 7 cm?







IIpoBeps ceost:

(Bed):6=2 (28 : 4)+ 6 =42
(45:5)+4=36 (21 : 3) + 40 = 47
(51 —50)+ 12 =12 63 — (54 : 6) = 54

26 +4):5=6 28 + (28 : 4) =35




J/lomaniHee 3a1aHue:

*c. 24 No 6,¢.8 Ne 20

c. 16 Nel0O, Ne 11
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